<= [FErmTHE A2.6 mlong iron pipe weighs 78 kg. How much does | m of

Division of Decimal Numbers

Dividing by Decimal Numbers (1)

the pipe weigh?

\6/ é
The math ‘ ;; i

|

06 ¢_—26‘
s sentence is
Weight . |::| N 8 79 (kg) kg 78 kg uQ6 = I.é,”
Length
g 0 ' 2 26 3(m | m 26m but how can

we calculate

T +26

it?

According to the above diagram, we can make the math sentence 78 + 2.6.

This division problem can be solved in the following way.

78 ~ 26 =30
y l0times | 10 times Zopel
780 - 26 = 30
The weight of |6 m of the iron pipe
Also another way is
78 + 26 =30 |«
y 10 times 710 times
78+ 26 = 3
The weight of 0. m of the iron pipe
Math sentence /
78 - 2.6 =30 Answer 30 kg
|_1_I A 2.4 m long copper pipe weighs 156 kg. How much does | m of the
pipe weigh? =
2.4
Math sentence — 2]
0 I__—I 0156 95 (kg) kg 156 kg
Weight
renath 0 | 2 24 3 (m) | m 24 m
=2
28 Answer
I_Z_I A 3.6 m long ribbon costs 540 zeds. How much does | m of
ribbon cost? (“zed(s)” is the fictional currency unit.)
Math sentence ( ) zeds ( ) zeds
(Om ] Jom Complete
0 (l) S (‘) - the number
price | | | | | | o o
| | | | ] line diagram
Lengthl I I I I I and table.
0 « 2 3 CH 4 W
l = () | Answer
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[ Division of Decimal Numbers A
6 2 Dividing by Decimal Numbers (2)
\ J
<= [Z€02 Find the following quotients based on 22| + 65 = 3.4.
O 21 +65= 3.43 @ 221 -65= 344
2.1 + 65 = 34 22| + 65 = 34 <
l 10 times l 10 times Equal l 10 times Il_O
22| + 65 = 34 22| =+ 65 = 34
e 22.1 =60 = ﬁ We should remember these rules. It is
221 = 65 = 034=. very interesting! ~—
lloﬁmes 0 Especially, itlis careful that the divisor 4 S
10 becomes —, the quotient will be |0
22| + 65 = 34 times.

|_1—| Find the quotient of each of the following based on 238 ~ |7 = |4,

O 38+17= @ 28+17=
€ 23817 O 238+17=
&

What if we multiply the divisor by 100?  ~ g

@

Find the quotient of each of the following based on 896 + 28 = 32.

O 89.6+28= @ 896 +28=
€ 89.6+ 28 O 896+ 28=

What if we multiply the divisor by |00? ¢ U ¢

Find the quotient of each of the following based on 477 + 159 = 3.

O 717+159= @ 477+ 159 =
€© 77+ 159 = O 77+ 159 =
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< [FEHB Calculate 4.2 + 3.5 by using the division algorithm.

.2

3.5)4.2 3@54@. 0 35, 4Q’2'. 0
. [0times 10 times . 3 5

70

70

0

Move the decimal point of the divisor one place

| 2 to the right to make it a whole number
(This means that the divisor becomes |0 times).

>0

Q/) Move the decimal point of the dividend to the

right the same number of places (one place)
(This means that the dividend also become |0 times).

4
3

According to the Divide by the whole number divisor.

We can add a 0O at the end of the dividend.

\'I\'I(.)'I@\)
O

OO O

division rule, the

quotient is same even
The decimal point of the quotient will be in
the same position as the decimal point of the
dividend after it was moved to the right.

when calculating after
multiplying both divisor
and dividend by |0.

Calculate the following division problems by using the division algorithm.
O 5616 @ 65-26 €© 7865 @ 5.1 +34

1.6)5.61 ] 2.6)6.5] ] 6.5)7.8  3.4)5.

O 36724 O 42+-15 @ 9126 © 77+ 14
© 365+-25 () 893+-38 @@ 65142 (B 57645

L5 o @ O
O O L ®
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[ Division of Decimal Numbers
|
6 4 Division of Decimal Numbers (2)
.

<~ [FEH3 Calculate 3.45 + 1.5 by using the division algorithm.

2.3

1.56)3.4 5 |Q§453®f¢5 |3 3Q4'.5
. [0times 10 times . 30

4 5

45

0

Move the decimal point of the divisor one place

to the right to make it a whole number
(This means that the divisor becomes |0 times).

-I—\-I—\O@l—\l\)
o1 W

O 01 O

>0

Move the decimal point of the dividend to the

right the same number of places (one place)
(This means that the dividend also become |0 times).

[
S

) ®

153
3

Based on the
Divide by the whole number divisor. The decimal

division rule, we . . . . i
hink of 34.5 = |5 point of the quotient will be in the same position
think of 3%.9 = 19, as the decimal point of the dividend after it was

which has the same moved to the right.
quotient.

Calculate the following division problems by using the division algorithm.

O 676+-13 @ 85 =23 € 705+-47 @ 988 =38

1.3)6.7.6 23)8.5.1 47)7.0 5 3.8)9.8 8

A ~_w®

O 483:23 O 918=-51 @ 806=-62 €@ 99471
€ 5216 () 812+-28 €@ 135624 (B 2059 + 5.8

5 o L O

O O L ®
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Division of Decimal Numbers
|
6 5 Division of Decimal Numbers (3)

<= [FEHB Calculate 0.63 + 1.8 by using the division algorithm.

0.3 5

1.8)0.6 3 IQ§EOGg;.3 |Q§50@g;.3 0
. I0times 10 times . 5 4

9 0

7 0

0

Move the decimal point of the divisor one place
5 to the right to make it a whole number
(This means that the divisor becomes |0 times).

Move the decimal point of the dividend to the
5 4 right the same number of places (one place)

(This means that the dividend also become 10 times).

Divide by the whole number divisor.
Based on the division We can add a “0” at the end of divided when it
rule, we think of 6.30 +— O is necessary.

The decimal point of the quotient will be in
the same position as the decimal point of the
dividend after it was moved to the right.

O

| 8, which has the same

quotient.

Calculate the following division problems by using the division algorithm.

O 08:+-35 @ 042+-28 € 23.+-36 ) 833+938

4[] 2.8)0.412[ ] 3.6)2.3 4 9.8)8.3 3

&
DDDQD
DDD#

O =15 O 221026 @ 16848 € 35 =65
© 377+65 () 324+-72 @ 028=35 (B 03672

L5 o @ O
O O L ®
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~ -
=4
N\Q

According to

the division rule,

the quotient
is same even
when calculating
after multiplying
both divisor and
dividend by [00.

2.31)8.5 4 7

w

23, 1)

~

J|

8
6
|
|

O\O\\Q(f?)'l

— |

O|l3d

3.7

253, 1J8a8, 47 253 J8ag 417
100 times 100 times 6 9 3

[ 6 | 7

| 6 | 7

0

Move the decimal point of the divisor two
places to the right to make it a whole
number (This means that the divisor becomes |00
times).

Move the decimal point of the dividend to
the right the same number of places (two
places) (This means that the dividend also
become 100 times). Think of “854.7 + 231.”

Divide by the whole number divisor. The
decimal point of the quotient will be in the
same position as the decimal point of the
dividend after it was moved to the right.

Calculate the following division problems by using the division algorithm.
€ 9963 = 369 @) 3585 + 239 €) 5.024 = 157 @ 7.488 + 4.16
L]

3.6,949.9,.6,3

L]

2.3,9)3

.5,.815

1.6 7)5.0 2 4 4.1 6)7.4 8 8

€ 5268 +328 @ 9672~ 403 @ 9.184 ~ 224 €) 8512 ~ 152

€) 7854 + 1.87 () 8.976 ~ 2.64 ) 8.568 + 4.76 (B 7.539 + 3.59

5

o

L O

O

O

L ®
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. 100 times

Based on the division
rule, we think of
780.0 + 325, which

has the same quotient.

2.4
3.25)7.8 32.5)7e8 O 32,5, @stgj.o

7
100 times . ?
|

Move the decimal point of the divisor two
places to the right to make it a whole
number (This means that the divisor becomes |00
times) .

Move the decimal point of the dividend to
the right the same number of places (two
places) (This means that the dividend also
become 100 times).

Think of “780 = 325.”

Divide by the whole number divisor. We
can add a ‘0" at the end of the divided if it
is necessary.

The decimal point of the quotient will be in
the same position as the decimal point of
the dividend after it was moved to the right.

Calculate the following division problems by using the division algorithm.

O i6-18 @ 16+025

][] [ [ ]
|@5§4.ﬁ I O&Q"ﬁ I
0] [0

L] L]

L] L]

L] L

€ 62+248 @ 42+525

2.4 8)6.2 5.2 5)4.2
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Division of

Decimal Numbers

Division of Decimal Numbers (6)

7.5)3

0.4

765300, (e

. 10times 10 times . 300
0

O

>0

g

quotient.

O
OO O+~

Based on the division
rule, we think of 30 +

75, which has the same

< [FEHB Calculate 3 + 7.5 by using the division algorithm.

Move the decimal point of the divisor one place

to the right to make it a whole number (This means
that the divisor becomes |0 times).

Move the decimal point of the dividend to the
right the same number of places (one place)
(This means that the dividend also become 10 times) and
write a “0” in the dividend.

Divide by the whole number divisor. We can add
a “0” at the end of divided when it is necessary.
The decimal point of the quotient will be in
the same position as the decimal point of the
dividend after it was moved to the right.

Calculate the following division problems by using the division algorithm.

o 6+ 2.4

O i:25

© 7-28 O 12+125

. m 2.8)7 1.25)1 2
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( Division of Decimal Numbers
[ ]
6 9 Size of the Quotients
\_

<= [3Enrds | have a [.2 m long plastic bar that weighs 24 kg and a 0.8 m
long metal bar that weighs 24 kg. How much does | m of
each bar weigh?

Plastic bar D“ Metal bar OBD
o | = kg) |:| kg | 24 kg e | = ko | 24 kg |:| kg
Length | — I'm l.2m Lengh } — 0.8 m [ m
I 12 (m 0.8 | (m)
Math sentence +12 Math sentence (I
24 - 1.2=20 24 - 0.8 =30
Answer 20 kg Answer 30 kg

When dividing by decimal numbers less  |fa 2 m long bar weighs 24 kg, we can find
than |, the quotient will be greater than |5 kg per m by using division (24 = 2).

L= ezl When the lengths of bar are |.2 m and 0.8
m, we also can use division.
l_l_l | have |.2 m long iron wire that weighs 36 kg and a 0.9 m long copper
wire that weighs 36 kg. How much does | m if each wire weigh?
Iron wire [?é [ ]g| 369
Math sentence Weight | , @ | l2m (i)
| ] p U 5
Length I I I —
12 m  Answer 2L
1.2
Copper wire = C JglC g Complete
C ) ) the number
Math sentence . @
At SEELe Weight COmlC )Ml Jine diagram
Length and table.
«C )y m
= () Answer
I_Z_I Which of the following will have a quotient that is greater than 8?

(@ 8=+ 15 (b)8+002 (c)8+064 (d)8+5 Answer
|_3_I Calculate the following division problems by using the algorithm.

O 2705 @ 79806 € 0320450 09 +0.72

L[] L] L[] LI
0.5)2.17] 0.6)7.9.8 0.4,5)0.3, 42 ] 0.7,2)0.9, 0, ]
L[] [ ] L] [ ]
LI LI LI LI
ﬁ L[] L[] L] L]
% L] LI L] L]
Are all the quotients @ DI:”:‘
larger than the dividends? |:| |:|
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7

Division of Decimal Numbers

]
6 1 0 Remainder with Division of Decimal Numbers
J

.

cwm A 2.5 m ribbon is cut into 0.7 m pieces. How many 0.7 m
long pieces of ribbon are there? How long is the remaining

piece? NS
A ° K
/ o 4\ Note that the decimal point of the

quotient and the decimal point of the
I T N T T T T T T I I A

07 m N 07m N 07 m _Nosm remainder are different!

In division of decimal numbers, the decimal 3.
point of the remainder will be in the same place O@Z@
that decimal point of the dividend was in before 2]
it was moved. 0V
Math sentence 3 people can get and /
25+ 07 =3 R04 A0 4 m will be left over.

Check the answer: (Divisor X Quotient + Remainder = Dividend)

0.7 x 3 + 04 = 25

|_'|_I Find the whole number quotient and the remainder by using the algorithm.

D:9-23 @o6s=15 @175-960 258 - 64340 =75
gD (2 (3] 4 (5

I_Z_I A 7.5 kg fertilizer is divided into 3.2 kg small packages. How many
small packages can we make? How many is the remaining fertilizer?

Math sentence 175 kg
a2k a2k 32k a2k~ “azkg— LS
Answer
|_3_I A 24.5 m rope is cut into 5.6 m pieces to make jump ropes. How many

Math sentence ¢ Im

jump ropes can we make? How long is the remaining piece of rope
& ®

Cym™ = om™ = ym™ =( ym—( )m Complete the

number line

Answer diagram.
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Division of Decimal Numbers
6 B 11 Rounding the Quotients

C"@ZEI:]J}JIQ |.4 L of sand weighs 2.6 kg. How much does | L of this sand
weigh? Round the quotient to the second highest place.

»  To round to the second highest place, we have to

look at the numeral in the third highest place.

1.4 q
Weight | | 2i6 il | ;\8\ \5\
Amount | | | )26, 0 0O
| | .4 L | 4
1.4 ;
S |12
|

0
According to the previous learning, ; 0
The remainder is “0.010”. () '
Math sentence o} ¢ U 3 O i O O
26 + 1.4 = 1.8%

Answer  Approximately 1.9 kg

|_1—| Calculate the following. Round the quotient to the second highest place.
Ds52:-68 @il 68 @75+42 Os32+-78@7 <3839
@ (2] 3 4] 5

I_Z_I |.8 m of hose weighs 1.2 kg. How much does | m of this hose weigh?

Round the quotient to the second highest place.
Math sentence

{ =18 \
I:I 1.2 (kg)
Weight i i i
Length I I I
I 18 (m)
t +18 |
Answer
|_3—| 3.9 m’ of iron plate weighs 4.8 kg. How much does | m” of this iron
plate weigh? Round the quotient to the second highest place. 5
Math sentence | —— ‘ & U D
. ( | ) ( | )(kg)
Weight | 1 1 Complete
| | |
Area | T oo thenumber
| = () l line diagram.
Answer
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[ Division of Decimal Numbers A
|

6 1 2 Division and Times as Much with Decimal Numbers (1)

\, J

~o m My water bottle contains 2.7 L of water. My brother’s water
bottle contains |.8 L of water. How many times more litres
of water do | have compared to my brother?

— )
18 2.7 3.6

, REC 8L | 27L

of water | | |

Times I I 1 1 I | times
[ 2 (times)

2.7+1.8
Math sentence }—I:’:I 3.6+18 T
27+ 18=15 Answer |.D times

< &  Even when we have decimal humbers, we can
use division to find out how many times one

quantity is compared to a base amount.

I_I My water bottle contains 8.5 L of black tea. My friend’s bottle contains

3.4 L of black tea. How many times more litres of black tea do | have

iend?
compared to my friend” ! 1 S
Math sentence ' ' -
iy [ e
Times Ll Ll
| 2 3 (times)
| a
Answer

I_Z_I A pony at my farm weighed 50 kg at birth. A half year later, it now weighs
190 kg. How many times heavier does the pony weigh now compared to,

when it was born? ( kg€ D kgl Complete the
Math sentence C A ) )imes| number line
Weight | | | | | diagrams and
Ti I I I IIIIIIII II tables.
I ! ( ! ) ! I ( )I (times)
Answer
|_3_I The distance from the train station to my house is 2.1 km. The distance

from the train station to my friend’s house is 3.5 km. How many times is
my house from the train station compared to my friend’s house?
Math sentence ¢ ) km|( ) km

C C ) km
" ( Y ) imes

Distance i i
T N N L1
| 1

Times

(S ( ) (times) Answer
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Division of Decimal Numbers
6 1 3 Division and Times as Much with Decimal Numbers (2)

.

<[l A 10-day old puppy 630 g. This weight is |.8 times heavier
than when it was born. How much did the puppy weigh at
birth?

I::| A 60 70 g 630 g

Times I | 8 times
18 2 (times)

Math sentence = /
630 = |.8 = 350

Answer 350 g

Weight

@ ° Ty Wecanalso think of this problem as the multiplication sentence,
% L] x 1.8 = 630.
I_I_I A |5-day old kitten weighs 900 g. This weight is 3.6 times heavier than

when it was born. How much did the kitten weigh at birth?

Math sentence [)]—2\ e \ |:| g|90g
900 (g)
|

Weight 36 times
Times
I 2 3 36 (times)
I—%Q‘ +3.6 ‘
Answer
I_Z_I The area of Town Ais 3.8 km®. This is 0.6 times the area of ) ﬁ !
Town B. What is the area of Town B? A
M h - 2 2
ath sentence o (G (l)(kmz) ¢ k¢ ) km Complete the
Area | | : () times|( )| number line
_ , | | diagrams and
Times | T T
¢ () (imes) tables.
=C )
Answer
|_3_I | have two coloured pencils. The red pencil is 9.5 cm long. Itis .25

times longer than the blue pencil. How long is the blue pencil?
Math sentence

( ).( () ) ¢ ( Dkm{( )cm
Lenghth | | cm) _
of pencils | | | ( () times
Times ! ! !
() ( ) (times)
= ( ) Answer
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[ Division of Decimal Numbers A
|

6 1 4 Division and Times as Much with Decimal Numbers (3)

\, J

cwm The table shows the price of a notebook and a dictionary in
1990 and 2010. Calculate how many times more the prices
increased for each item. Which item increased more times.

NOTEBGOR g 1990 2010
— Notebook 120 zeds* 150 zeds
s Dictionary 1500 zeds 1530 zeds

(“zed(s)” is the fictional currency unit.)

120 150 (zeds)
! 120 zeds| 150 zeds

L
Price |

Times :
i | |:|times
‘ (times)

1500 1530 (zeds)

Notebook

Price : : : 1500zeds| |530zeds
Dictionary Times | | | éé
| ‘I I_:l (times) l |:|times ¢ /—i ~ ¥
The price of the notebook: / We are comparing by
Math sentence |50 = 120 = | 25 finding out what the

process would be if we
The price of the dictionary: consider the prices for
Math sentence |530 = |500 = |.02 / each item in 1990 as |.

Answer 1 he notebook

The table shows the price of a tennis ball and a tennis racket in 2000 and
2010. Calculate how many times more the prices increased for each item?
Which Item increased more times?

2000 2010
Tennis ball J) Tennis ball 300 zeds 420 zeds
Math sentence Tennis racket 4500 zeds 5400 zeds

(“zed(s)” is the fictional currency unit.)

300 420  (zeds)

Tennis racket — — 300 zeds | 420 zeds
Math sentence P2l Times| : Ij | |:|times
\ (times)
¢ C ) (zeds)
g Tennis Price : : : ( )zeds|( )zeds
racket X | | |
Times

& ® f T T ]

! C C ) (times) ) ¢ )times

Complete the number

line diagram and table.
Answer
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Division of Decimal Numbers
6 -15 Review (1)

|_1—| Find the quotient of each of the following based on 731 + 43 = 7.

O 731 +43= @O 731 +43=

€© 731 +43 = O 731 +043=

O 73143 = @ 731 +43=

|_2_| Which of the following will have a quotient that is greater than the
dividend?

(@ 36+ 15 (b) 81 +0.9 (c) 0.066 + 1.1 (d) 35.7 + 0.85

Answer

|_3_| Calculate the following division problems by using the division algorithm.

O 58+14 @ 95234 € 94527 @ 49329

| 4)5.8 8 3.4)9.5 2 27)9 4 5 2.9)4. 9 3

O 16146 O 145+-58 @ 253=46 ) 585178
© 027+-18 @ 03915 @ 216=45 (B 45 =55
® 279+62 O 221 +34 @ 41418 O 9.66+ 2.1

5 o L 3
O 9 L ®
® U4 ® O
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|_4—| Calculate the following division problems by using the division algorithm.

O5s57-228 @ 11025 € 42+175 @ 34+425

2.28)5.7 0.25)1. 1 1.75)4.2 4.2 5)3.4

D23-092 O93+124 @27+-225 € 1.6=025
O 216 3375 @1si-25 @s6+72

() 8528 + 328 (3925 ~ 157 () 7.491 + 227 () 7.905 = 4.65

5 0 7, &,

O O 0 @
O

® U4 0
&

|_5—| A 1.5 mlong hose weighs 270 g. How much does | m of the AL I
hose weighs? m | b d
C )

Math sentence

C g€ )
© ? ? Complete the

( )m|C )m| number line
diagrams and

t=C ) tables.

Weight

Length

Answer

|_6—| A car drive 7.5 km using 0.6 L of gasoline. How far can a car drive on |

L of gasoline? EPTEEEE!
C )
Math sentence o ) k)1 Dkm|{C Hkm
- istance
Gasoline ( ) L ( ) L
C L,
L= 7 4

Answer

|_7—| 2.4 m of plastic stick weighs 10.8 kg. How much does | m of this

plastic stick weigh? — |
O ( OkglC )
Math sentence (G C ) &g kg kg

Weight
Length ( ) m ( ) m

C ) () m

t e

Answer
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Division of Decimal Numbers
6 -16 |
Review (2)

|_1—| Find the whole number quotient and the remainder by using the algorithm.

O 58-26 @ 65+-37 @ 47-23 O 72+15
O 82:37 O 53+-87 @ 51664 € 8.6+92
@ (2 (3 4]
(5 0 (7 (8

|_2_I Calculate the following. Round the answer to the second highest place.
O 31-19 @ 42-27 € 58-69 O 7.1 +92
O 656-73 O 289+-43 @ 2+-58 @ 5=+382

1 (2 (3 4
(5 6 (7 8

|_3_| A 3.3 m ribbon is cut into 0.5 m pieces to provide children. How many
0.5 m long pieces of ribbon are there? How long is the remaining piece?
Math sentence

Answer

|_4—| There are two ribbons. The blue ribbon is 5.5 m long and red ﬁ
ribbon is 6.6 m long. How many times difference is the red ribbon &/ °

compared to the blue ribbon?
P | ( | )(, @ ymlC m Complete the
Math sentence Length | i i ber li
— | | | ( ) | Yimee|  Mumber line
Times | — diagrams and
( ) ( ) (times) tabIeS.

Answer

|_5_| | walked 8.5 km yesterday and 3.4 km today. How many times longer
did | walk yesterday compared to today?
Math sentence C C ) km) (

Distance

) km | ( ) km

( ) | )times

(times)
C ( ) (imes Answer
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